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1. The amplification factors of two triede valoes are 40 and thelr plate
resistances are 2 K€ resp. If both are used of 4 kL2 In the outer clrcuit, the

ratio of voltage saln will be :
(110 (2) 49 (3)4/3 {4) 16/3

1. Fundamental frequency of an open pipe s :
{1y 15Hz (2) 20 Hz {3) 30 Hz (4) 10 Hz

X Ifthe capacity of Tarapore atomic power station is 200 M The energy
produced by this reactor In one day will be :
(1) 200 mega watt ~ (2) 200 J () 1720x 107 (4} None

4. The half life of a radioactive sample Is 1.8, the time ‘after which 120" part of
the sample will left will be:
(1) 66 days (2) 16.5 days (3yT8days,  (4) 13.5 days

5. A hollow sphere filled with water and hole In the bottom when oscillates the
time perfod will:
{1ydecrease (2)increase (3} first ingrease then decrease {4) remains
constant .,

. Im AC circult at the time of resomance :
(1) voltage at C and R notimsame phase
{2} voltage at L and C an same phase
(3) impedanceds wh- I
Cin
(4) impedance is R

7. A n‘at'l_s.tf_nhn from air into water then what is unchanged :
{1y wavelenath (2) velocity  (3) amplitude (4) frequency

8. In wattles current phase difference between current and voltage Is :
(1) m'4 {2y w2 (3m (4) zero

9. When the light of wavelength 2537 A is made to Incldent over the surface of
copper slab, the stopping voltage Is 0.24 volt obtalned. The there shold
frequency for copper will be :

(1) 1414 x 10" Hz (2)2.248 x 10" Hz

(3) 1124 x 10" Hz (4) None
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1L The V e of gas molecules is 300 m/sec. 1T its absolute temperature is reduced
to halfl and molecular welght is doubled the V e will become:
{175 m'sec. {2) 150 m/sec. {3) 300 mv'sec. (4) 600 m/sec,

12. The density of a rubber pipe is 1.5 x 103 kg/m3 and Young coefficient of
elasticity 1s 5 x 100 N/m2 when It is suspend from earth surface the length Is 8
m., the Increase in its length due to fts own welght will be :

(1)9.6x 10°m (2)9.6x 10Pm
(3 192x107 " m. {4) 9.6 m.

13, Surface tension is due to :
(1) cohesive molecular forces
(2} gravitational forces
{3} nuclear forces
{4) elecirical forces

14. The time perlod of a penduium in 3#3_1!-nur_v.lﬁ't Is T, If lift starts moving in
the downward direction the time period will :

(1) decrease {2) increases, % i3) unchanged (4) uncertain

15. An engine of a car can prqﬂ':u'e an acceleration of 4 mfsec.2, IT this car Is
dragging another car of same mass than the acceleration produced by the
engine of the car will be: . 1 i
{1y 1 misec.” (2 mbsec.” (3) B mfsec.” {4)4 m/sec.”

;)

16. IT a stoneof massm Is rotated In a vertical circular path of radius 1 meter,
the eritical velocity will be :
(1) 12.64 mwsec. {2) 3.16 m/sec. (31632 msec. (4) 948 m'sec.

17. If thieMI of a disc about the tangent In its plane is L, its M1 abouat the tangent
perpendicular to the plane will be :
(5 _ 1 (23l (3 3_1 (4 61
4 2 4 5

18. Photo electric effect is based on :
(1) Davisson-Germer experiment
(2} Maxwell s theory
{3) Einstein theory
(4) Plank's constant
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19. In a electrical clreult a cell, a variable resistance R and ammeter are
connected In serles. A voltmeter connected with the varlable resistance to
measure the voltage across the wire R and at one instant the reading of
ammeter and voltmeter are 0.3 A and 0.9V resp. At other Instant the values
of ammeter and voltmeter are 0,25 amp. and 1.0 volt for other value of R.
The internal resistance of the cell is :

(46 (2)4.3 [RIRE S 4] 4200

0. To electroplate a spoon with silver, one has to place It on :
(1} any where in electro lyticsolution
(2} between anode and cathode

(3) cathode
(4) anode
21. Dimenslonal formula for mgneﬁt Induction is :
{IpM'LT A {EjMLT A
GM'LTA! AM'LTA!

12, Two charges of 20 pp and 80 gy charge are plaged at 10 cm. distance from
each other at which point the electrical field intensity I_s'zern 5
(10033 M (2)-0.04M (30003 M, [4)-001 M

13 An electron Is moving in a clreular nrhitnfrnﬂlns 51x10" mina hydrogen
atom with 6.8 x 10" ¢/s frequency. The equivalent magnetic moment of the
atom will be: )

(1)9.56x 107 Axm’
(2)44x 10" Axm’
(3)9.58x 107" Axm’
{4)89x 10™ Axim,

24. A welghtless string s suspend on a frictionless pulley, a mass of 6 kg. Is

suspend at one end-and mass of 10 kg. Is suspended on the other end of the
string, the tension in the string will be :

4

10 kg

(DTSN (379N (3)245N (445N

25, The wavelength for Laman serles Is 912 A, the wave no. will be :
(1912 2) 10" (332x3  (HHMN2x9
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10. In the following circuit the reading of voltmeter will be :
(1) 300V v_100v__ 100w
(2) 00 V
(3) 200V RLLIRY
(4) 400 V )

7. To purchase 1 icﬂg sugar will be beneficlal at :
(1) at attitude 40 {2) equators  (3) poles {4) at 45" attitude

28. The period of laser is 10-8 sec, The uncertalnty In energy will be:
(Iy15x 10" (2)6.62 x 10 ] (3)1.05 x 10°") {4)gero

29. An electric cattle works at 220 volt and 4A current. To boll a | kg-water at
room temperature 20" C will take time:
(1) 12.8 minute {2) 6.3 minute (3) 6.4 minute> (4)12.6 minute

30, The cross sectional area of an aluminum square rodis 5 x 10°* m’ and length
Is 1 m. If the resistivity of the aluminum Is 2.8 x I[ﬁ_ﬂm. resistance will be :
(hl2x10'a  2)LI2x10'Q
3)242x 1070 4) 1L.24x 107"

31. An electron s moving around infinite linear positive charge In the orbit of 0.1
m. IT the Hearcharge density Is.1 pfe, velocity of electron will be:
(13 0.0562 x 10" mfs. (2) 362X 10r mfs.
(3) 562 x 10° m/s. {4y5.67 x 10" m/s.

32. In Young's bislit experiment the intensity at a polnt when the path difference
between the waves Is A Is obtalned k. I the path difference is changed to /4

the intensity at that point will be :
1k (22 (3) k/4 (4) zero

33, A small sphere of radius r is kept inside a hollow sphere of radius K (R = r)
concentrically, The large and small sphere are charged by charges () and q
resp-ui_iwl'}'. Both the sphere are separated from each other. The potential
difference depends upon:

{lyonlyonq {2) only on Q) {3) both g and ()
{4} does not depend upon both

34, Laser Rays are :
{1} instrument to measure the velocity of aeroplane
{2} instrument to measure the intensity of X-rays
{3) measure of frequency
(4) highly coherent waves

35, On increasing the temperature the frequency of organ plpe will:
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{1} decreases {2) increases  (3) unchanged (4) uncertain

Ul“

36. In uranium series the inltial nucleus is o and last nucleus ul’hm.. the no.

of @ and f particles will be:
(134 (2)4.3 (3} 8,6 4)6,8

37. The p spectrum Is :
(1) comtinuous {2) lina {3) continuous and line both (4) none

38. In the clreuit the equivalent reslstance between A and B is :

8

(hDR2 (IR & ()R o™ lRo
2 4

39, Two whistles A and B 660 Hz and 5_!6 Hz frequencles. An observes Is
standing in the middle of the line jolning to source. Source B and observer
are moving towards right with velocity 30 m/s. and A Is standing at left side.
If the velocity of sound In alr Is 330 my/s. the no of beats listen by the observer
Is:

(1)8 (2y6 ()4 (4)2

40. Twa pltch ball of each mass m and charge q are suspended from a point
by welghfless threads of length . If both the threads are separated by an angle
0 with the vertical, If the value of q Is negligible, the distance between two pitch

balls will e = 1 )
(1 Lgh iy e
® ymg | da ymg
) gll N3 M al 13
2m pmg } d; amg

41. In the two parallel wires current is flowing In the same directions, then they
will :
(1) slip on each other (2} repells  (3)attracts  (4) nothing happens
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421 A mass moving with a constant velocity wrt. X-axis, its angular momentuny
wriorlgin :
{1y decreases (2) increases  (3) constant (4 zero

43, A one mole monoatomic gas Is mixed to one mole of a diatomic gas. the value
of r of the mixture will be:
(1) 145 (2y1.4 (3) 1.54 4y 1.5

44. The total force constant of the springs shown in the fgure will be:

hH{z + 1 |
i k:

@1 + 1
Xk

{3;[2|_+ %"
Kk

4y ki +k
2

45, Gravitatlonal acceleration of the carth surface s g =98 mv/sec., value of g at
10 km. helght will be (R = 6400 km.)

(13 10 misec.” (39. 79 m/sec’

(3 17.6 m/sec.’ {4) zero

46. Intra molecular forces are found In ;
(1} solids, liguids and gases
{2) solids ‘and gases
(3} onby selids
(4) ouly gases

47. In the cireular motion In a vertical plane the minimum velocity at the lowest
polnt is:

(1) \Euru (2) \E?g {3) zero (4) \E-r_g

48. Energy of a photon of 6 x 10-8 m wavelength s :
(1y4l4eV  (2)402eV  (3)206eV  (4)514eV

49. A car Is moving wlttl 30 mJs. velocity in 500 m radius path. IT the velocity is
Increasing by 2m/sec.” then the resultant acceleration will be :
(D45 msec”  (2)2.7 misec® (3) 2.5 m/sec.? (4) 2m/sec.”
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50. A bullet moving with V velocity collldes to a wall and stops, its 50% energy
converts into heat then the increase In temp.is:
() V5 @ ¥ (3) 2V 4 Vs
2 415 15 J

51. Im the following circult If deflection In the glav. Is zero then the value of
resistance will be : B

(8o 20 i0
(2)6 0
340
YRR A
C
in D

51. Isotopes have :
(1) equal no. of neutrons
{2} equal no. of protons
{3} equal no. of neutrons but unequal no. of protons
(4) none

53. The radius of first orbit of hydrogen atom Is 0.5 A and an electron is moving
In this orbit with 2 x 106 m/s. velocity, the current due to motion of electron In
the orbit will be : ¢

(I Lix 107 (2) L5 mA™, (3) | mA (4) 2.5 mA

54. The redness In atmosphere at sunrise and sun-set is due to :

(1) scattering of light (2¥dispersion of light
{3} refraction of light H]_feﬂe_cﬁun of light

55. X-ravs was discovered by :
{1y Plank Q}Cﬂde {3) Thomson (4) Rontgen

50. The distanee between centres of earth and moon are I and the mass of earth
Is 81 times mﬁt of mass of moon, the distance from the centre of the earth at
which gravitational force on a body will be zero is :

(1 By (2) D (3) 4D (4) 9D
2 3 3 10
57. Value of gravitational acceleration Is maximum s :
(1) inside of the earth (2)yata hill
(3) at poles {4} at the equator

Intra melecular forces are of :
{1} some time of low range and sometimes of height range
(2) low range
(3} infinite range
(4} uncertain
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59. The time perfod of a pendulum of Infinite length is :
(1yinfinity (2} B4.6mt (3} zero (4) uncertain

). The law of actlon reaction Is based upon the which law of Newton :
(1) first law (2} second law {3) third law  (4) none

o01. Emission of energy from sun is :
(1) by chemical reactions
(2} by radio activity
{3} by fusion
(4) by fission

6. Which quantity remalins conserved as external torgue Is zero :
{1y linear momentum
{2} angular momentum
{3} kinetic energy
(4} potential energy

63, The electric fleld at distance r from a uniformly eharged Infinite sheet of charge
density o will be :
(e 2) o (3) @ LN

64. In Young experiment the sodium lamp 'ufnjaﬁiﬂigth A= 5808 A produces 92
fringes In visible reglon, I the source aflight 1s changed by green light of wavelength

2461 A the no. of fringes obtalned in the visible reglon will be :
(199 (2) 85 {3) 67 (462

65, A standard cell Is balanced at 150 em. helght of a potentiometer wire. If this cell
Is shunted by a resistance of 2 £, the balanced position Is obtalned at 100 em. length.

The Internal resistance of the cell will be :
(h2g hl'a NHooee  (Hola

66. A wire tenslon 228 N produces 6 beats per second when It tuked with a fork,
when the tenslon changed to 256 N, It again tuned with the same tuning fork to no.
of beats remalned unchanged, the frequency of tuning fork will be :

(1) IB& (2) 280 (3) 225 i4) 256
67. Ratlo of De-Broglle wavelengths of a proton and an alpha particle of the same
energy Is:

(-4 (2341 (3p1:2 i4y2:1

08, Neutron was discovered by @
{1} Goldsten {2) Rutherford (3 Chadwick (4) Thomson

09, The cause of great shine in a diamond s :
{1} diffusion
(2) total internal reflection
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{3} diffraction
(4} reflection

T0. In the circuit the equivalent resistance is :
20 20

[ H

A 4 B 40 C

(s a 2y g (3)60 4)4 0
3 3 3 3

T1. Ratlo of voltages In a step up transformer Is 8. If voltage at primary 5120 volt
then the voltage at the secondary will be: X
(1) 960 Volt (2) 1B0 Volt (3) 120 Valt  (4) 150 Volt

71. In a triode amplifier phase between Input and output voltages 1s:
(1) zero (2)m 3)2=n (4) o

T3 If Rp=T kf} and gy = 1.5 mill mho, how much the -grl&wl.‘tlg-e must be changed

when plate voltage Is changed by 30 Volt. in order to keep plate current constant:
(Iy+2Volt  (2)-4Volt (3)+4 Vol ()3 Volt

74. The equation I, = KV, " Is called ;
(1) Gelusec law (2) Newton s law i?ﬂ Charles law (4) None

75. X-rays are :
(1) sound waves (2Yemeaves (3)radio waves {4}y all above

T0. In space tharge_mttéd-'ﬂ:glun the plate voltage Is 50 Volt and plate current is
L0 mAL I the plate voltage is changed to 20 Volt, the plate current will become :
(Y 10mA S 2 19mA (3)25mA  (4)40 mA

77. The pt_eiq_.jﬁr&lnabde a tyre of a car Is four times of atmospheric pressure and
temp. 300 K. If the tyre is bursted all of sudden the new temperature will be (r = 7/5)

(13300 (4~ (2)300 (47 (3300 (4 (4)300(2)*

T78. Mutual Inductance of a coll Is SH, If current changes to 0 amp. from 5 amp. in
107" sec. then the Induced emf. In secondary :

79. If solar temp. is doubled then :
{1y it will emit infra red rays mainly
{2} it will emit ultra vilet rays mainly
{3} emission will be doubled
(4) emission will be four times

:The Information provided heres i=s only for refersnce (It may vary the Original.



n

wwWw .examtime.co

B0, A caplllary tube Is dipped In water up to length v, the level of water reaches upto
helght h. Mow the end which Is inside the water Is closed and caplilary tube is put
outside the water and that closed end Is opend if1 > h: the helght of remalning water
column in the capillary will be :

{Ivh (2)2h {(3yu+h (40

B1. Two loops of different wire are placed concentrically in a plane. If the current In
the outer loop is made to pass clock wise and current Increases with time, the
Induced current in the inner loop will be :

{1} will depend upon radius of loop.

{2) zero

{3} anticlock wise

(4) clock wise

B1. Dstance between earth and moon Is reduced to half then the Hme perlfod will be

{ 1) nothing can be said {2) unchanged
(3} decreases (4) increases

83. Energy of a photon of 5890 A wavelength is :
(1)3x 10 (2)3.6x10%]
(3)3347x 101 (4H3364x 1070

B4. Range of a ball which Is projected at an’ angle with 80 m/s. veloclty s :
(1) 565m.  (2)108m. (3)632m> (4)433m.

85. A loop of thread Is placed over a horlzontal film of soap. If the threadis
peneterated In the mid, It acquires circular shape of radius R. IT the surface tenslon
of soap is T, the tension in the thread is :
(1)RT @) 2R . (3) ART 4) 2R’
5" T

Bo. A particle executing SHM has total energy E. When the displacement of the
particle Is halfof Its amplitude at that point the kinetlc energy of the particle will be

N (2) E_ {3y E (4) 3E
3 4 2 4

B7. Value of *g’ at the surface of moon is one sixth of that at the earth surface then
the time period of a pendulum at moon Is how much times to that at earth :
{1y 1_ times {2)6times  (3)v6 times (4) fimes
]

= ||_

BE. A car has to cover the distance 60 km. if half of the total time it travels with
velocity 80 km./hr. and in rest half time [ts speed becomes 40 knvhr. the average
speed of car will be :

{1} 180 kmph (2) 120 kmph  (3) 80 kmph  (4) 60 kmph
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B9, If the kKinetlc energles of two bodies of 4 K. gm. And 16 k. gm. Is same, the ratio
of thelr momentum is :
(1y4:1 (2y 2:1 3y 1:2 (4)1:4

90. Work done to Increase a unit length of a wire Is : .
Iy LYS (EyLYS () LYS (4)1Ys
2 2 2 2
91. If Kinetic energy of a body Is Increased by 20 % then Increase In momentum will
be :
(13000 % (2) 107 (3 11% (4) 22%

921, Current In a cireuit will be watt less when the phase difference beéftween voltage
and current Is :

(1) 60" (2 180° (3) 45" (4) 90"

93. The half life of Radium is 1600 yrs. After 4800 yrs. the unitergrated amount of
radium will be :
(n 8 @ I &L (4l
7 8 8 16°

94. The energy of an electron at 0 K temp. can ll_e'ujled :
(1) potential energy  (2) work function
(3) emission energy  (4) Fermi energy

95, Cooling law Is based upon :
(1) Kirchoff's law  (2), Stefans law

{3) Prevost law (4} Plank!s law
96, Use of trinde Is as a :

(1) modulator, w4 2)oscillator  (3) amplifier (4) all of these
97. If the colour of a star changes from red to blue, it means :

(1} it issconstant”

{2) coming towards earth

(3} moving away from earth

{4} none

98. A bomb of 9 kg. blasts Into two parts of 3 ko, Is 16 m/sec. then the Kinetle energy
of 6 kg. Is 16 m/sec. then the kinetic energy of 6 kg. part s :
(13241 (23481 (33961 4p921

99. Welght of 1 kg. sugar will be max. at :
(1) poles {2)sealevel (3)equator  (4)atall places

104, There Is a pendulom in a life and the Hft s coming down wards frealy then the
time period is :
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{1} zero (2} infinity (3} 2 second  (4) 9.8 sec.

ANSWER SHEET
1{3) (200 | 33) [402) [543) | 644) [T(4) | 8.42) J942) [ 1042) 11.(2)
12003 | 1300 ) 042y | 15.02) [ 16020 | 17(4) [ D8.3) | 1944) | 20.(3) | 21.(3) | 2241)
25.04) | 2441y | 25.02) | 2630 ) 27.02) | 28.43) [ 29.2) | 3042) | IL.(2) { 32.(2) | 33(1)
34y [ 35423 | 3630 ] 3720 [ IR0 | 393 | 4043y | 41.2) [ 42.03) | 45.04) | 44.43)

45.(3) | 46.41) | 47.(4) | 48(3) | 49.(2) | 5042 | 5142 | 52.42) 55.(4)
56.1) | 5743) | 58.42) | 59.2) | 60.(3) | 61.3) | 62.2) | 63.12) 66.(1)
67.(4) | 68.(3) | 69.44) | 70.(1) | T1(1) | 72.2) | 73.4) | 74.4) 771
T843) | 79.42) | B0.(1) | BL(3) | B2.(3) | B3.3) | BAA1) | B5.41) §8.14)
89.3) | 90.4) [ 91.03) | 92.(3) [ 93.03) [ 94.3) [ 95.2) [ 96.4) 99.(1)

100.(2)
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